CHVCOCMTR8PFXXXALOODO

wHeREEERSENAERAS

Amphenol PCD Shenzhen

% & X AF

20249H27H

C-HVCOCMTR8PFXXXAL00QO

REV | ECN DESCRIPTION DATE MODIFIED
I PRE- RELEASE May-04-23
2 | RT906N MODIFITED DRAWING 2024.03.20
3 [C84TTN, ADD NEW P/N,MODIFIED PP TERMINAL |2024.07.31

Technlcal Parameter
Rated Current SEE TABLE | +
Rated Votage [000VDC +
Withstanding votage 3000VAC +
Insulation Resistance 100MCY Min. +
Contact Resistance 0.35m(2 Max.
Durability 20000 Cycles ©
P-Closs 955 (Unmared) | ©
Ambient Temperature -40°C~+50°C ©
Discription Parameter Symbo

B (266.8) _
CP PP
O it @ -
| S —s ZIQ)
— Amphenel PCD
| =
] ‘ - ]
DC+— ~—DC-
|
\ "L"MARK |
5]
0
=
(12.1) TABLE | q
#4 e Wit DC 485k PEB&MHE grag0) | Q
REF: IEC62196-281EC62196-3 =
| HVCOCMTRSPF 65AL0000 65 2% 1 6mm2 | 6mm’ 19.540.4 |3
[04]
2 HVCOCMTR8PF 1 25AL0000 125A 2X50mm2 2 5mme 32.5£0.8 |8
3 | HVCOCMTRBPFI25AL0000L 125 2% 50mme 2 5mme 28.5+0.4 g
%\, W 4 HVCOCMTRSPF 150AL0000 150A Y 35mme | 6mm’ 2560 8 | =
OE , , 5 HVCOCMTR8PF200AL0000 200A 2X70mm? 2 5mm2 35.0£1.0 |8
(Em;“;‘xxxm UK M << 6 | HVCOCMTR8PF200AML0000 2004 425l 4 28.0¢0.5 |©
DC XXXA 1000V IPS5
b~ 7Aoo v CA . . , T | HVCOCMTR8PF200AM2L0000 200A 2X50mm? 2 5mm 32.540.8
/\ 0 8 HVCOCMTRSPF 250AL 0000 250A X 70mm? 2 5mm? 35.0%1.0
9 HVCOCMTRBPF 250AML0000 250A X 35mm° Amm? 31.540.5
10 HVCOCMTR8PF 300AL 0000 300A AX50mme 35mm? 36.9+1.0
Il | HVCOCMTR8PF300AML0000 3004 AX50mm2 A’ 34005
. 12 | HVCOCMTR8PF350AML0000 3504 AX50mm2 A’ 34.0%0.5
UK 13 HVCOCMTR8PF 350AL0000 350A AX50mm° 35mm2 36.941.0
CA 14 | HVCOCMTR8PF380AML0000 380A AX50mm° 6rmm- 35.541.0
/N 15 | HVCOCMTRBPF400AML0000 100 AX50mmC 6’ 37.0+1.0
DIMENSIONS | TOLERANCES | PROJECTION TiTLE
ANSI| Yi14.5M X +0.5 .
UNITS: MM ™ 0o @ Q CCS2 Vehicle Connector
' ' o ENGR
Pro/E FILE ANGLES +05 May-04-23
ORIGINAL PROPRIETARY INEORMATION WaCH | SIZE | DWG No REV
NOT FOR | s THE CONEDENTIAL FroPeRTY A3| C-HVCOCMTRSPFXXXAL0O000 | 3
CUSTOMER OF Amphenol PCD Shenzhen Co. Ltd APPD
DISTRIBUTION | AMPhenay PCD Shenzer, Co. L1d RESERVES SCALE: 12 SHEET 1 OF 10

+ CRITICAL CHARACTERISTICS st
© IMPORTANT CHARACTERISTICS #Z#tt



yi.he
图章


-HVCOCMTR8PFXXXALOO)O

C-HVCOCMTR8PFXXXAL00QO

20 POIBMOI66502| SIGNAL TERMINAL-PP I
19 210006857 1500 RESISTANCE I
18 210006862 PT 1000 2
I SEE BOM LIST END COVER I
16 SEE BOM LIST CABLE FIXED I
) 210002130 M4X 14 2
14 SEE BOM LIST| CABLE SEALING RING

13 SEE BOM LIST PLUG SHELL I
|2 SEE BOM LIST DC SEALING RING 2
Il SEE BOM LIST DC TERMINAL 2
10 SEE BOM LIST MM SPRING 2
9 POIBP00B2T PIN HOLDER I
8 POIBR0O069S PE SEALING RING I
1 210007404 | SIGNAL SEALING RING /4
b POIBMO16650 | SIGNAL TERMINAL I
5 SEE BOM LIST PE TERMINAL I
4 POIBNOT495 oMM SPRING I
3 POIBR0O0632 SEALING RING I
2 SEE BOM LIST HOUS ING I
I 210006300 ST2.9X18 8
NO P/N DESCRIPTION QUANTITY NOTE

REBREEESF)AERAS
Amphenol PCD Shenzhen

% & 3 AF

202449 H27H

:
A3 C-HVCOCMTRSPFXXXALOOOO 3
SCALE: 12  [SHEET 2 OF 10



yi.he
图章


wHEREEESFARAE

C-HVCOCMTR8PFXXXALOO)O

Amphenol PCD Shenzhen

HVCOCMTR8PF65AL0000-BOM LIST Z X fF

C-HVCOCMTR8PFXXXAL00QO

20 POIBMO166502| SIGNAL TERMINAL-PP | /A 2024479 H27H

19 C210006857 1500 RESISTANCE |

|8 C2100068672 PT 1000 ? TERMINAL MODE OF CONNECTION:

7 2000068614 END COVER | (Cable connections refer to wiring harness drawings)

6 €2000068624 CABLE FIXED |

15 C210002130 M4X I 4 ? T T T T

|4 €270007205D | CABLE SEALING RING | o2 : |

13 POIBP00828B PLUG SHELL | DC+ ! H |

2 POIDRO0254 | DC SEALING RING 2 )+ Lo HTRERNTSTOR ;

I P02B00034406 DC TERMINAL ? /A T - __0.75m2 | PT1000 |

10 POIBNOIIT2 MM SPRING 2 DC - —_I6mn2 | H |

9 POIBP0082T PIN HOLDER | Tp 4 —L.Tom? TR :

8 POIBR0O0695S PE SEALING RING I Tp- __0.75m2 | PT1000 |

1 C270007404 | SIGNAL SEALING RING ? | 6mn? | o

6 POIBMOI66501|  SIGNAL TERMINAL | A EFE ) 5 | R=15008 ﬂ !

5 P02B00040203 PE TERMINAL | T e T T T B : b

] POIBNOI495 6MM SPRING | cp | " N

3 POIBRO063? SEALING RING | — T

? POIBP008?6 HOUS ING | WHETHER THE PP TERMINAL LEADS OUT IS o

| 210006300 ST 5 BASED ON THE WIRING HARNESS DRAWING s

NO P/N DESCRIPTION QUANTITY note §
HVCOCMTR8PF [25AL0000-BOM LIST §

20 POIBMO166502| SIGNAL TERMINAL-PP | N %

9 C210006857 1500 RESISTANCE | g

18 €210006862 PT 1000 2 IEE&:?AEomEEi?EnEOMEEIl(’r)':‘wiring harness drawings) ;

17 €20000686 12 END COVER | g

6 2000068622 CABLE FIXED | S

15 €210002130 M4X 14 2 r

|4 POIBRO0666 | CABLE SEALING RING | ocy St | " |

13 PO1BP00828B PLUG SHELL | . : ! |

E POIDR00?254 DC SEALING RING 2 T —— H THERM STOR :

X P02B00034403 DC TERMINAL 2 A T|- Lo Tom? | PT1000 |

10 POIBNOI 172 MM SPRING 2 DC - 20m? , ﬂ |

9 POIBPO082T PIN HOLDER | T4 —30. Tom? HTwERwTSToR ;

8 POIBRO069S PE SEALING RING | T2 - __0.5:0.75m2 i PT1000 |

1 C270007404 | SIGNAL SEALING RING ? pp __25m? ; |

6 POIBMOI66501|  SIGNAL TERMINAL | A op _ T2 | §Rersooe .

5 P02B00040202 PE TERMINAL | cp _0.Tm? I H ’ |

4 POIBNO 1495 6MM SPRING | ]

3 POIBRO063? SEALING RING |

2 POIBP00826 HOUS I NG | WHETHER THE PP TERMINAL LEADS OUT IS

| 210006300 ST2 918 g BASED ON THE WIRING HARNESS DRAWING SIZE | DWG NO. REV

NO P/N DESCRIPTION QUANTITY note A3| C-HVCOCMTRBPFXXXALOO0O 3

SCALE: 1:2 SHEET 3 OF 10



yi.he
图章


wEBREEESF)AERAS
Amphenol PCD Shenzhen

C-HVCOCMTR8PFXXXALOO)O

HVCOCMTR8PF 125AL0000L -BOM L 1ST % B ox

20 [POIBMOI66502] SIGNAL TERMINAL-PP | A FERMINAL MODE OF CONNECTION. 202449 H27H

|9 C210006857 1500 RESISTANCE | (Cable connections refer to wiring harness drawings)

8 210006862 PT 1000 2

17 |[POIBMOIT7050] END COVER | i

16 |POIBMOIT060] CABLE FIXED | B |

15 210002130 M4X 14 2 DC+ o | H :

4 POIBR00665 | CABLE SEALING RING | F s 0 15w | |

13 PO1BP00828B PLUG SHELL | N H TveswisToR i

12 POIDR00254 | DC SEALING RING 2 R | " ;

|1 [P02B00034403]  DC TERMINAL 2 A R i u |

10 POIBNOIIT2 8MM SPRING 2 T2+ — " THERM  STOR |

9 POIBP008?T PIN HOLDER | 12 —Ltme HE 000 ;

8 POIBR006IS | PE SEALING RING | op __tom? ; _ .

1 €270007404 | SIGNAL SEALING RING 2 L B i |

6 POIBMOI66501|  SIGNAL TERMINAL | A cp —omd | ﬂ ;

5 P02B00040202 PE TERMINAL | ]

] PO IBNO 1495 6MM SPRING |

} POIBRO06 32 SEALING RING | WHETHER THE PP TERMINAL LEADS OUT IS
9 2 POIBP00826 HOUSING I BASED ON THE WIRING HARNESS DRAWING 2
S | €210006300 ST2.9X18 8 S
2 NO P/N DESCRIPTION QUANTITY | note 9
SHYCOCMTRBPF 1 50AL0000-BOM L IST =
o 20 |POIBMOI66502] SIGNAL TERMINAL-PP | A 2
= 9 €210006857 | 1500 RESISTANCE | X
: o [Ceimontse | P 1o 2 DL ST s :
O 17 ] C2000068613 END COVER | § ey grewings g
= 6 €2000068623 CABLE FIXED | S

5 €210002130 M4X 1 4 2 T T

4 POIBRO06I| | CABLE SEALING RING | ooy 35m? : ! |

13 POIBP00828B PLUG SHELL | [|4 0 m? | — : |

2 POIDR00254 | DC SEALING RING 2 0w 1| or o0 ;

I P02B00034402 DC TERMINAL 2 A o 2 ; " |

10 POIBNO 172 MM SPRING 2 0. 5nm? | : |

9 POIBP0082T PIN_HOLDER | e | THERNISTOR |

T2- . 5mm !

8 POIBR00695 | PE SEALING RING | - i .

7 C270007404 | SIGNAL SEALING RING 2 Pt : T e s00e L

6 |[POIBMOIG6501| SIGNAL TERMINAL | A PP = I F- ||

5 P02B00040203|  PE TERMINAL | cp —= : H |

4 POIBNOI495 6MM SPRING | | N

’ "oloRb00 e SLALING HING | WHETHER THE PP TERMINAL LEADS OUT IS -

: POIBPO0S26 HOUS ING | BASED ON THE WIRING HARNESS DRAWING SZE | DWG NO REV

| (210006300 o1z, 9X18 L A3| C-HVCOCMTR8PFXXXALO0Q0 3

NO PN DESCRIPTION QUANTITY | note

SCALE: 12 SHEET 4 OF 10



yi.he
图章


C-HVCOCMTR8PFXXXALOO)O

C-HVCOCMTR8PFXXXAL00QO

HVCOCMTRBPF200AMZ2L0000-BOM LIST

20 POIBMOI66502| SIGNAL TERMINAL-PP I /A

19 C210006857 1500 RESISTANCE I

18 210006862 PT 1000 2

[T 2000068612 END COVER I

16 2000068622 CABLE FIXED I

) 210002130 M4X 14 2

14 POIBRO0O666 | CABLE SEALING RING

13 POIBP00828B PLUG SHELL I

|2 POIDRO0254 DC SEALING RING 2

| P02B00034403 DC TERMINAL 2

10 POIBNOIIT2 8MM SPRING 2 /A

9 POIBP0O0B2T PIN HOLDER I

8 POIBR0O069S PE SEALING RING I

1 C210007404 | SIGNAL SEALING RING /4

b POIBMOT6650 | STGNAL TERMINAL I AN

5 P02B00040202 PE TERMINAL I

4 POIBNOT495 oMM SPRING I

3 POIBR0O0632 SEALING RING I

2 POIBP00826 HOUS ING I

I 210006300 ST2.9X18 3

NO P/N DESCRIPTION QUANTITY note
HVCOCMTR8PF200AL0000-BOM LIST

20 POIBMOI66302| SIGNAL TERMINAL-PP I /\

19 C210006857 1500 RESISTANCE I

18 C210006862 PT 1000 2

[T 200006861 | END COVER I

16 POIBM02230 CABLE FIXED I

) C210002130 M4X14 2

14 POIBR0O0302 | CABLE SEALING RING I

13 POIBP00828B PLUG SHELL I

|2 POIDR0O0254 DC SEALING RING 2

N P02B00034404 DC TERMINAL 2 Vo

10 POIBNOIIT2 8MM SPRING 2

9 POIBP0O0B2T PIN HOLDER I

8 POIBR0O069S PE SEALING RING I

1 C210007404 | SIGNAL SEALING RING 2

6 POIBMOI6650 | STGNAL TERMINAL I /A

§) P02B800040202 PE TERMINAL I

4 POIBNOT495 6MM SPRING I

3 POIBRO063?2 SEALING RING I

/4 POIBP00826 HOUS ING I

I C210006300 ST2.9X18 8

NO P/N DESCRIPTION QUANTITY note

wEEREEES@IERAS
Amphenol PCD Shenzhen

%2 X AF
20245E9H27H
TERMINAL MODE OF CONNECTION:
(Cable connections refer to wiring harness drawings)
r_..__..__..__..__.._j
DC4 50mm2 ! H I
0.5~0.75m?2 :
Th H THERM IS TOR 5
T - _0.5-0.75mm2 I PT1000 |
_ 50mm? N ;
* 0.5~0.75mm? i :
T2+ M THERMISTOR '
To. 0,50, 52 {rTiooo |
25mm?2 . 0 '
PE 0. 75mm2 I R=15002 : I
o e T " .
S
0
WHETHER THE PP TERMINAL LEADS OUT IS =
BASED ON THE WIRING HARNESS DRAWING g
_ L L L S <
_|
s
©
Y
!
X
<
>
TERMINAL MODE OF CONNECTION: S
(Cable connections refer to wiring harness drawings) Q
o
-
DC + T0mm2 ! H !
0. 5mm? ; I
Th H THERMISTOR ;
T| - —0 5mn2 | PT1000 |
70mm2 '
e 0::m? | H I
T2+ ™ THERMISTOR '
Ty 0.5m iPnooo |
25mm? . 0 '
"t 0.75mm? | R=15009 : I
e T .
CP ! | J
SiZE | DWG NOL REV
WHETHER THE PP TERMINAL LEADS OUT IS .
BASED ON THE WIRING HARNESS DRAWING A3 C-HVCOCMTR8PFXXXALO00O 3
SCALE: 12 SHEET 5 OF 10



yi.he
图章


-HVCOCMTR8PFXXXALOO)O

C-HVCOCMTR8PFXXXAL00QO

HVCOCMTR8PF200AML0O000-BOM LIST

20 POIBMOI66502| SIGNAL TERMINAL-PP I /A
19 C210006857 1500 RESISTANCE I

18 C210006862 PT 1000 2

I POIBMOI 7050 END COVER I

16 POIBMOIT0601 CABLE FIXED I

) C210002130 M4X14 2

14 POIBRO066S | CABLE SEALING RING I

13 POIBP00828B PLUG SHELL I

|2 POIDR0O0254 DC SEALING RING 2

N P02B00034403 DC TERMINAL 2 /A
10 POIBNOITT2 8MM SPRING 2

9 POIBPO0OB2T PIN HOLDER I

8 POIBR0O069S PE SEALING RING I

1 C210007404 | SIGNAL SEALING RING 2

6 POIBMO 16650 SIGNAL TERMINAL I /A
N) P02B00040206 PE TERMINAL I

4 POIBNOI495 6MM SPRING I

3 POIBR0O0632 SEALING RING I

2 POIBP00B26 HOUS ING I

I C210006300 STZ2.9X18 8

NO P/N DESCRIPTION QUANTITY note

HVCOCMTR8PF250AL0000-BOM LIST

20 POIBMOI66502| SIGNAL TERMINAL-PP I /A
19 210006857 1500 RESISTANCE I

18 210006862 PT 1000 2

I 200006861 | END COVER I

16 POIBMO2230 CABLE FIXED I

) 210002130 M4X14 /4

14 POIBR00302 | CABLE SEALING RING

I3 POIBP00328B PLUG SHELL I

|2 POIDR00254 DC SEALING RING /4

'l P02B00034404 DC TERMINAL /4 /\
10 POIBNOIIT2 MM SPRING /4

9 POIBP0082T PIN HOLDER I

8 POIBR0O069S PE SEALING RING I

1 C210007404 | SIGNAL SEALING RING 2

b POIBMOI6650 | SIGNAL TERMINAL I /A
5 P02B00040202 PE TERMINAL I

4 POIBNOT495 6MM SPRING I

3 POIBRO0632 SEALING RING I

2 POIBP00B26 HOUS ING I

I 210006300 ST2.9X18 8
NO P/N DESCRIPTION QUANTITY note

TERMINAL MODE OF CONNECTION:
(Cable connections refer to wiring harness drawings)

Amphenol PCD Shenzhen

wHeREEERSHEHERAS

% X AF

202449 H27H

METER|NG 0. T5mm2 |_____—
DC+ 2X25mm2 | \"
TI+ 0.75mm2 I !
| THERMISTOR
T|- —_0.75m2 L PT1000
DC' 2X25mm? | |'|
METERING —2 12 I "
0. 75mm? !
T2+ A THERMISTOR
T __0.15m2 IPHooo
4mm? ;
Pt - | R= 15008 H
pp _ O Imm__ _____ r o1 0
1 .
0.75mm2 :
(P ——= — ]
WHETHER THE PP TERMINAL LEADS OQUT IS g
BASED ON THE WIRING HARNESS DRAWING =
2
o L o =
_|
T
o
i)
N,
TERMINAL MODE OF CONNECTION: %
(Cable connections refer to wiring harness drawings) >
S
. — — — — — o
r_ :
DC+ 70mm? ! H |
0. 5mm? : |
TI+ H THERMISTOR :
T - 0 5mm2 | PT1000 |
_ 10mm? I :
> 0.5mm? | ' |
T2+ ™ THERMI STOR '
To. _0.5m2 [PTT000 |
PE 25mm?2 | H |
pp _ 0.T5m? | R=1500¢ N I
_____________ |
P 0.75mm2 I H J
WHETHER THE PP TERMINAL LEADS OUT IS SIzE | DWG No. REV
BASED ON THE WIRING HARNESS DRAWING A3 C-HVCOCMTRS8PFXXXALO0000 3
SCALE: 1:2 SHEET 6 OF 10



yi.he
图章


wHehEEERSEHHERARE

C-HVCOCMTR8PFXXXALOO)O

C-HVCOCMTR8PFXXXAL00QO

Amphenol PCD Shenzhen

HVCOCMTR8PF250AML0O000-BOM LIST Z B ox fF

20 POIBMOI66502| SIGNAL TERMINAL-PP | A 202449 A27H]

9 C210006857 1500 RESISTANCE |

|8 C210006867 PT 1000 ? TERMINAL MODE OF CONNECTION:

§ 2000068612 ND COVER | (Cable connections refer to wiring harness drawings)

6 2000068622 CABLE FIXED |

5 210002130 M4X ] 4 2 VETERI NG 0. T5mn2 o

|4 POIBRO0666 | CABLE SEALING RING | o s 2L T~ |

13 | P0IBP00828B PLUG SHELL | T4 015w | : |

E POIDRO0254 | DC SEALING RING ’ 0T ] prieee " ;

I P02B00034404 DC TERMINAL 2 VN oC . 2im: ; " |

10 POIBNOI T2 8MM SPRING 2 ! :

9 POIBP00B2T PIN HOLDER | ETER ING -2 | — |

8 POIBRO0695 | PE SEALING RING | I TRERWTSTOR |

T C270007404 | SIGNAL SEALING RING 2 Tp- — Q. Tomm2 [|PT1000 |

6 POIBMOI66501| SIGNAL TERMINAL | /A pp —dm? | |

5 P02B00040206 PE TERMINAL | pp _ OISm_ S ;|

4 POIBNOI495 MM SPRING | AL F H N

3 POIBRO063? SEALING RING | —

2 POIBP00826 HOUS ING I WHETHER THE PP TERMINAL LEADS OUT IS Q

| C210006300 ST? 9X18 8 BASED ON THE WIRING HARNESS DRAWING =

NO P/N DESCRIPTION QUANTITY note §
HVCOCMTR8PF 300AL0000-BOM LIST §

20 POIBMO166502| SIGNAL TERMINAL-PP | A %

9 €210006857 1500 RESISTANCE | g

18 €210006862 PT 1000 2 IEE&:?AEomEEi?EnEOMEEIl(’r)':‘wiring harness drawings) ;

17 €2000068615 END COVER | o

6 | 2000068625 CABLE FIXED | g

15 €210002130 M4X 14 2 r

|4 POIBRO0293 | CABLE SEALING RING | ops Aot | : |

13 POIBP00828 PLUG SHELL | T ! I |

|2 POIDRO0254 DC SEALING RING ? T — H THERM1STOR :

I P02B00034405 DC TERMINAL 2 /A T|- —LAm? { PT1000 |

10 POIBNOIIT? 8MM SPRING 2 D - 2Xmn? | ﬂ |

9 POIBP0082T PIN HOLDER | T+ —2 M TRERVTSTOR -

8 POIBR0O069YS5 PE SEALING RING | Tp- __1.5m2 | PT1000 |

1 C270007404 | SIGNAL SEALING RING ? pp —3m? ; |

6 POIBMOI66501|  SIGNAL TERMINAL | /A op _ w2 | Reisoee .

5 P02B00040201 PE TERMINAL | cp s ; ! b

4 POIBNO 1495 6MM SPRING | | ' ]

3 POIBRO063? SEALING RING | ST T T

. :

NO P/N DESCRIPTION QUANTITY note A3| C-HVCOCMTRBPFXXXALO00O 3

SCALE: 1:2 SHEET 7 OF 10



yi.he
图章


C-HVCOCMTRS8PFXXXALOO(O R EEESHFNARAGS

Amphenol PCD Shenzhen
HVCOCMTRBPF 300AMLO000-BOM LIST

C-HVCOCMTR8PFXXXAL00QO

20 [POIBMO166502] SIGNAL TERMINAL-PP | A % % M

19 C210006857 1500 RESISTANCE | 202459 H27H

'8 (210006862 PT 1000 ’ IEEP\S:gAtongEi?anOTEESIl(’r)'::wiring harness drawings)

K 200006861 | END COVER |

6 200006862 CABLE FIXED |

) C210002130 M4X14 2 METERING _0.75mm2 T

4 POIBRO0667 | CABLE SEALING RING | pC ¢ 2¥30m? ' \H |

'3 | POIBP0082SB PLUG SHELL | S | |

12 POIDR0O0254 | DC SEALING RING 2 oo | e RuIsTOR |

O M TR R TR S : - . e i o

g POIBP0082T PIN HOLDER | METERING -T2 | — |

8 POIBRO06Y5 | PE SEALING RING | 72+ —2lm? HTRERMTSTOR |

7 C270007404 | SIGNAL SEALING RING 2 Tp- —0.75m2 l PT1000 |

6 POIBMOI166501|  SIGNAL TERMINAL | /A pp —tnm? | _ |

5 P02B00040206 PE TERMINAL | pp _ O T5m_ S Rt ;|

4 POIBNOI495 6MM SPRING | Cp L. T5m? F H N

3 POIBRO0632 SEALING RING | —

’ PO1BPO0826 HOUS ING | WHETHER THE PP TERMINAL LEADS OUT IS 9

| €210006300 ST2. 9X18 8 BASED ON THE WIRING HARNESS DRAWING <

NO P/N DESCRIPTION QUANTITY note g
HVCOCMTR8PF350AL0000-BOM LIST §

20 POIBMO166502] SIGNAL TERMINAL-PP | A %

19 210006857 1500 RESISTANCE | X

'8 (210006862 PT 1000 2 IEE%:EAEOﬂSEEi?EnEOPEEEIl(’r)':.wiring harness drawings) E

K 2000068615 END COVER | 9

6 2000068625 CABLE FIXED | 3

5 210002130 M4X 14 2 T T T

14 POIBR0O0293 | CABLE SEALING RING | 2X50m? : : |

3 POIBP0082S PLUG SHELL | e 2 _ u |

12 POIDRO0254 | DC SEALING RING 2 T)+ Lo H T hERISTOR ;

I P02B00034405 DC TERMINAL 2 A T~ L om2 | PT1000 |

10 POIBNOIIT2 8MM_SPRING 2 DC - 2A30m? ﬂ |

9 POIBP0082T PIN HOLDER | T4 —m? HReRuTSToR ;

8 POIBRO0695 | PE SEALING RING | [9. 15w | PT1000 |

7 C270007404 | SIGNAL SEALING RING 2 pp 32 ]

6 POIBMOI66501|  SIGNAL TERMINAL | /A op _tom | R=15003 o

5 P02B0004020] PE TERMINAL | cp _Lsm : ! |

4 POIBNOI495 6MM SPRING | : N

3 POIBR0O063? SEALING RING | T T T T

’ POIBPO082E HOUSTNG | WHETHER THE PP TERMINAL LEADS OUT 1§ SZE | DW6 Ao, REV

I C210006300 ST2.9X18 8 BASED ON THE WIRING HARNESS DRAWING A3 | C-HVCOCMTRSPFXXXALO000 3

NO P/N DESCRIPTION QUANTITY note

SCALE: 1.2 SHEET 8 OF 10



yi.he
图章


C-HVCOCMTR8PFXXXALOO(

C-HVCOCMTR8PFXXXAL00QO

HVCOCMTRPF350AML0O000-BOM LIST

RHBREERSFHARAE
Amphenol PCD Shenzhen

20 POIBMO166502] SIGNAL TERMINAL-PP | %2 ¥ X AF

19 C210006857 1500 RESITSTANCE I 202449 H27H

|8 C2100068672 PT 1000 ? TERMINAL MODE OF CONNECTION:

7 2000068611 END COVER | (Cable connections refer to wiring harness drawings)

6 2000068621 CABLE FIXED |

5 210002130 MAX 14 2 METERING _0.75mm2 T T T

14 POIBRO066T | CABLE SEALING RING | DC + X5 ; \H |

3| P0IBP00B28B PLUG SHELL | 0w | |

2 POIDR00254 | DC SEALING RING 2 015w o000 " ;

I P02B00034405 DC TERMINAL 2 A ¢ . __2tm? I " |

0 POIBNOIIT72 MM SPRING 2 '

9 POIBP00B2T PIN HOLDER | VETER 116 - | — |

8 POIBRO06Y5 | PE SEALING RING | P ~THERMISTOR |

T C270007404 | SIGNAL SEALING RING 2 T2- . 1om2 [ PT1000 |

6 POIBMOI66501|  SIGNAL TERMINAL | pp 2 | |

5 P02B00040206 PE TERMINAL | pp _ 028w SN Rl ;|

4 POIBNOI495 6MM SPRING | AL |_ H N

3 POIBR0O063? SEALING RING | — =

? POIBPO08?6 HOUS ING | WHETHER THE PP TERMINAL LEADS OUT IS o

| 310006300 ST 5 BASED ON THE WIRING HARNESS DRAWING :

NO PIN DESCRIPTION QUANTITY note §
HVCOCMTR8PF 380AMLO000-BOM LIST §

20 POIBMOI66502] SIGNAL TERMINAL-PP | A 3

9 210006857 1500 RESISTANCE | CRMINAL NOBE OF CONNECT 10K %

18 C210006862 PT 1000 2 (Cable connections refer ’ro.wiring harness drawings) E

17 €200006861 | END COVER | 3

6 200006862 CABLE FIXED | METERING _0.75m2 T T T T S

15 210002130 M4X | 4 2 DC 4 _2Hsomn? r \H |

14 POIBR00302 | CABLE SEALING RING | Fpa O Tom | |

13 | P0IBP00828B PLUG SHELL | 0I5 TR ;

E POIDR00254 | DC SEALING RING 2 o 2o i \ |

K P02B00034407 DC TERMINAL 2 | -

0 POIBNOI 112 8N SPRING 2 = METERING -2 | — |

9 POIBP0082T PIN HOLDER | To —L1om? T ERNTSTOR |

8 POIBR00695 PE SEALING RING | T2 - —0.T5m? l PT1000 :

7 C270007404 | SIGNAL SEALING RING 2 pp —bm? | H |

6 POIBMOI66501| SIGNAL TERMINAL | A pp _ OIS S P

5 P02B00040205 PE TERMINAL | cp 015w F H : J

4 POIBNOI495 6MM SPRING | —

’ RAELUULEE SEALING KING | WHETHER THE PP TERMINAL LEADS OUT IS

2 POIBP00826 HOUSING | BASED ON THE WIRING HARNESS DRAWING SIzE | DWG No. REV

| 210006300 ST2.9X18 8 A3 | C-HVCOCMTR8PFXXXALO000 3

NO PIN DESCRIPTION QUANTITY note SCAlE 12 SEET 9 OF 10



yi.he
图章


C-HVCOCMTR8PFXXXALOO)O

C-HVCOCMTR8PFXXXAL00QO

HVCOCMTRBPF400AML0O000-BOM LIST

DESCRIPTION

20 POIBMOI66502| SIGNAL TERMINAL-PP I
19 C210006857 1500 RESISTANCE I
18 210006862 PT 1000 2
|7 2000068615 END COVER I
16 2000068625 CABLE FIXED I
) C210002130 M4X14 2
14 POIBR00293 | CABLE SEALING RING

13 POIBP00828 PLUG SHELL I
|2 210005046 DC SEALING RING 2
| P02B000T64 DC TERMINAL 2
10 POIBNOIGIS 8MM SPRING /4
9 POIBP0O082T PIN HOLDER I
8 POIBR0O069S PE SEALING RING I
1 210007404 | SIGNAL SEALING RING 2
6 POIBMOI6650 | SIGNAL TERMINAL I
5 P02B00040205 PE TERMINAL I
4 POIBNOT495 6MM SPRING I
3 POIBR0O0632 SEALING RING I
e POIBP0O0B260 | HOUS ING I
I 210006300 ST2.9X18 8
NO P/N QUANTITY note

TERMINAL MODE OF CONNECTION:

(Cable connections refer to wiring harness drawings)

/N

METERING 0. T5mm? — T
D+ _2H30mn? I — I
I ' :
0.75mm? '
Tl ~ THERM S TOR |
-|-|_ 0.75mm2 IPTI()()O :
DC - 2X50mm? | 0 I
| .
METERING _0.-75mm? | /I I
0.75mm2 |
T2+ = STHERM 1 STOR I
Tp. _0.15m2 IPTIOOO :
PE 6mm?2 I H I
op _ 0TS i—— ] R=15000 ﬂ |
0.75mm? :
cP — ]
WHETHER THE PP TERMINAL LEADS OUT IS g
BASED ON THE WIRING HARNESS DRAWING g
3
=
EE S =
X
[00]
i)
|
X
b4
X
>
.
(@]
(@)
(@)
wHehTEESHFIAERAS
Amphenol PCD Shenzhen
% ¥ X fF
202449 H27H
SIZE DWG NO. REV
A3 | C-HVCOCMTR8PFXXXALO000 3
SCALE: 12 SHEET 10 OF 10



yi.he
图章


